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Who won the Men's Singles title at Wimbledon
2025?

(A) Novak Djokovic

(B) CarlosAlcaraz

(C) Jannik Sinner

(D) Daniil Medvedev

G20 Summit 2025 is scheduled to be held in
which country?

(A) Indonesia

(B) India

(C) Brazil

(D) South Africa

The recently launched “Udaan 2.0 scheme is
related to what?

(A) Women Empowerment

(B) Aviation Connectivity

(C) Student Scholarships

(D) Agriculture Reforms

If 25% of a number is 80, what is the
number?

(A) 200

B) 300

(©) 320

(D) 400
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3.

What is the area of a triangle with base 10 cm

and height 8 cm?

(A) 40cm?

(B) 80cm?

(C) 60cm?

(D) 50cm?

What is the sum of all interior angles of a
pentagon?

(A) 360°

(B) 540°

(©) 720°

(D) 900°

What will come next in the series: 2, 6, 12,
20, ...7

(A) 28
B) 30
() 36

(D) 40

In a code language, SCHOOL is written as
LOOHCS, then how will COLLEGE be

written?

(A) EGELLOC
(B) ECGOLLE
(C) ECLGOLE

(D) EGLOCLE
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9.

10.

il

12.

In a pie chart showing expenses of a family, food
takes 30% of total 60,000. How much is spent

on food?

(A) 18,000

(B) 15,000

(C) 12,000

(D) 20,000

Five people live on five different floors (1 to 5).
P lives on the second floor. R lives above P. S

lives above R. T lives below Q. Who lives on

the top floor?

(A) S

B) W

©) R

O T

Which Indian city hosted the World Book Fair
20252

(A) Kolkata

(B) Mumbai

(C) New Delhi

(D) Bengaluru

Which scheme replaced the Free Foodgrain
Scheme under NFSA in 20247

(A) Bharat Annapurna Yojana

(B Pradhan Mantri Khadya Yojana

(C) Anna Suraksha Yojana

(D) Rashtriya Ration Mission
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B3,

14.

5.

16.

17,

Select the synonym of "Benevolent" :

(A) Cruel
(B) Kind
(C) Rich
(D) Proud

Select the antonym of "Rapid" :
(A) Fast
(B) Slow
(C) Small

(D) Late

Fill in the blank with correct article :

Heis___ honestman.
(A) a

(B) an

(C) the

(D) noarticle
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(A) @

(B) aifar

(C€) g

(D)
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(B) fawm
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(D) famer
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20.
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(C) Fa-ars

(D) faEaiates

What type of software is MS Word?
(A) Operating System

(B) Word Processing Software

(C) Compiler

(D) Spreadsheet

Which device acts as an interface between

software and hardware?
(A) Operating System
(B) Keyboard

(C) Monitor

(D) Scanner

Which function is used to perform addition in

MS Excel?
(A) ADDQ
(B) SUM()
(C) TOTAL()

(D) PLUS()
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22. Which tab is used to add animations in

23.

24.

2

PowerPoint?

(A) Home

(B) Insert

(C) Animations

(D) Design

Full form of SMTP is:

(A) Simple Mail Transfer Protocol

(B) Secure Mail Transmission Program
(C) Standard Mail Test Program

(D) Server Mail Transfer Program

Full form of BIOS is:

(A) Basic Internal Operating System
(B) Binary Internal Output Setup
(C) Built-In Operating System

(D) Basic Input Output System

Full form of HTML is:

(A) Hyper Transfer Markup Language
(B) Hyper Text Markup Language
(C) High Text Machine Language

(D) Hyper Tool Mark Language
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26.

27.

28.

5 3

Which of'the following follows Markovnikov’s

rule?

(A) Addition of HBr to propene
(B) Addition of HBrto 1-butyne
(C) Addition of HCl to ethene

(D) Nitration of benzene

What iS the shape of BF; molecule?

(A) Tetrahedral

(B) Pyramidal

(C) Trigonal planar

(D) Linear

Which quantum number differentiates orbitals
in same subshell?

(A) Principal quantum number

(B) Azimuthal quantum number

(C) Magnetic quantum number

(D) Spin quantum number

Which compound gives positive iodoform
test?

(A) Ethanol

(B) Methanol

(C) Propan—I-ol

(D) Butanoicacid
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30.

31.

32

35:
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Which reagent is used for the oxidation of a

primary alcohol to aldehyde?
(A) PCC

(B) KMnO,

(C) HyPd

(D) LiAlH,

The unit of molarity is:

(A) molkg

(B) moll.-

©) oL

(D) mol/mL

What is the oxidation number of sulfur in
H,S0,?

(A) +2

(B) +4

(C) +6

D) -2

The number of unpaired electrons in oxygen
atom is:

A) 0

® 1

) 2

D) 4
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34.

35,

36.

37

What is the product of Cannizzaro reaction?
(A) Aldol

(B) Alcohol and acid °
(C) Ester

(D) Ketone

Which of the following is used as a drying
agent?

(A) HCI

(B) NaCl

(C) CaCl,

(D) NaOH

Which of the following is not a state function?
(A) Enthalpy

(B) Internal energy

(C) Work

(D) Entropy

Tollen’s reagent is used to detect:

(A) Alcohols
(B) Ketones
(C) Aldehydes

(D) Acids
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38.

39,

40.

41.
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Which of the following is paramagnetic?
(A) N,

B) O,

(©) H,0

(D) €O,

Which is the most basic among the following?
(A) Aniline

(B) Ammonia

(C) Methylamine

(D) Urea

The reagent used for nitration of benzene is:

(A) HNOj; and H,SO,

(B) HCland ZnCl,

(C) HBrand FeBry

(D) Br, and CCl,

The half-life of a first-order reaction depends
on:

(A) Initial concentration

(B) Rate constant

(C) Temperature

(D) Pressure

[12]
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43.

44,

45.

46.

Which of the following complexes is colorless?
(A) [Cu(NHj),J**

(B) [Ti(H,0),]**

(C) [Se(Hy0)6]"

(D) [Ni(H0)g**

In UV spectroscopy, the m—n" transition
oceurs in :

(A) Alkanes

(B) Alkenes

(C) Alcohols

(D) Amines

Which of the following is not aromatic?
(A) Benzene
(B) Pyrrole

(C) Cyclooctatetraene

(D) Furan

Which spectroscopy is used to determine
functional groups?

(A) UV
B) IR
(C) NMR

(D) Mass

The main product of Kolbe’s reaction is:
(A) Phenol

(B) Salicylicacid

(C) Benzoicacid

(D) Toluene
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47.

48.

49.

50.

IUPAC name of CH;~CH(OH)-CHj is :
(A) Propanol

(B) Propan-2-ol

(C) Propan-1-ol

(D) Isopropanol

Which law explains the absorption of light in

solutions?
(A) Boyle’slaw
(B) Lambert-Beer’s law

(C) Raoult’s law

(D) Henry’s law

Which of the following is used as rocket fuel?

(A) Liquid hydrogen
(B) Butane
(C) Propane

(D) Methane

The oxidation number of Cr in K,Cr,0O, is:
(A) +2
B) +3
(C) +6

D) +7
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Rough Work
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